

$$1) \quad x^2 + 9x + 14 = 0$$

$$(x+2)(x+7) = 0$$

$$\begin{array}{r} x+2=0 \quad \text{or} \quad x+7=0 \\ -2 \quad -2 \quad \quad \quad -7 \quad -7 \end{array}$$

$$\boxed{x = -2 \quad \text{or} \quad x = -7}$$

$$2) \quad 4x^2 - 28x + 48 = 0$$

$$4(x^2 - 7x + 12) = 0$$

$$4(x-3)(x-4) = 0$$

$$4 \neq 0 \quad \begin{array}{r} x-3=0 \quad \text{or} \quad x-4=0 \\ +3 \quad +3 \quad \quad \quad +4 \quad +4 \end{array}$$

$$\boxed{x = 3 \quad \text{or} \quad x = 4}$$

$$3) \quad 3x^2 + 11x - 4 = 0$$

$$\frac{(3x+12)(3x-1)}{3} = 0$$

$$\frac{3(x+4)(3x-1)}{3} = 0$$

$$(x+4)(3x-1) = 0$$

$$\begin{array}{r} x+4=0 \quad \text{or} \quad 3x-1=0 \\ -4 \quad -4 \quad \quad \quad +1 \quad +1 \end{array}$$

$$x = -4 \quad \quad \quad \frac{3x}{3} = \frac{1}{3}$$

$$\boxed{x = -4 \quad \text{or} \quad x = \frac{1}{3}}$$

$$4) \quad 4x^3 + 22x^2 + 30x = 0$$

$$2x(2x^2 + 11x + 15) = 0$$

$$2x(x+3)(2x+5) = 0$$

$$\begin{array}{r} \frac{2x}{2} = \frac{0}{2} \quad \text{or} \quad \frac{x+3}{-3 \quad -3} = 0 \quad \text{or} \quad \frac{2x+5}{-5 \quad -5} = 0 \\ x=0 \quad \quad \quad x=-3 \quad \quad \quad \frac{2x}{2} = \frac{-5}{2} \end{array}$$

$$\boxed{x = 0 \quad \text{or} \quad x = -3 \quad \text{or} \quad x = -\frac{5}{2}}$$

Factoring $2x^2 + 11x + 15$

$$\begin{aligned} &= \frac{(2x+6)(2x+5)}{2} \\ &= \frac{2(x+3)(2x+5)}{2} \\ &= (x+3)(2x+5) \end{aligned}$$